
Parallel Programming
Exercise session 9



Today

• Post-Discussion Ex. 8
• Dekker‘s Lock (a deeper look)
• Kahoot
• Q&A all the topics until now



Post-Discussion Ex. 8



The result does not depend on the interleaving. Thread 1 will always see r1=23 and thread 2
always r2=42. The reason that this codes outcome does not depend on the interleaving of threads is that
there are no conflicting accesses (at least two accesses by different threads to the same shared variable, of
which one is a write).



The result does depend on the interleaving. Both threads access the shared 
variable y and both write to it. 
Thus the value of r2 depends on the order of the last write, either r2=42 or r2=2.



Recap: Relations





We have:
Scissors beats paper
Paper beats rock

If beats were transitive, we would have:
Scissors beats rock

However, this does not hold. Thus, beats is not transitive



Recap: Transitive Closure



X+ : (a, b), (c, d), (a, c), (e, f), (a, d)





A “good” compiler will deduce that this function always returns three 
and that the for-loop can be removed.





Read and write of volatile variable

When we present such pseudo-code examples we always assume we are seing an excerpt of each 
threads code, i.e.,
the instructions shown are surrounded by other instructions not relevant for the task.





Important

• Program Order, synchronizes-with, etc. are defined on actions not 
program statements



Dekker‘s Lock (a deeper look)





Kahoot



Request topics
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